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he disengage (A) for the U.S. is that it

Aol conundrum (B) fom Alghanistan, i that

is its priority (C). without accepting Pakistan's

terms (D).

A.A-C
B.B-D
C.C-D
S8

E. Nointerchange required

D 18-21): a
paragraph Is given with two blanks. The
paragraph |s then provided with five options

C. Engaged, Contradiction
D. Eligible, Consent
E. None of these.

@n&m‘unw for COVID-19

vaccines have good response
senior citizens.
A_Acquired, Within
Gained, Among
C. Acquired, Over
D. Gained, Between
E. None of these.

@‘I’l-u-u ways In which women's

blanks. Choose that option as your answer

as given in the option. If none of the given

(@), “None of these' as youranswer.
18) The party In the State and the

leadingtothe _____.
A. Progressive, Offers
B. Seating, Participate

“Ruling, Deadlock
D. Constitutional, Allied
E. Noneof these.

19) Those aged above 80 andthose_____ for
casting postal ballots shouldfillupa 12D ____

A. Engage, Clarity
B. Cligibilty, Conceptual

at home can be reduced by the
govemment.
A. Little, Burden
Many, Burden
C. Few, Burdened
D. Much, Works
E. None of these.

@

shapes and

sizes-some can be
most are hard to

Ve Anticipated, tell.

B. Expected, introduce

C. Benefitted, said

D. Promoted, delusion

E. None of the above
(23-27):Inthe

1among which one of

G dwin — DILEMMA |
HEe 1 TATION -

sse— badlock Ly

ssn - ot omg by

C. Engaged, Contradiction

\Jxﬁlglble. Consent

E. None of these. e 1
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IT oven togeth of oven L( Y |
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The given table shows the total number of B.1835% 7 ¢p \\b X 7\[00, E Is 20% more than that of D, then find the _;} _—
appliance and the number of AC and the % of Cezibag 3.3 numberof AC sold by E? tyay
) ) . e 13 VAL A 1700 :
fidge sold by five different companies in a E. 3445 20 - . B.1787
month. C.1720
Total appllance = Number of AC sold + Numb funold bosoldfridgebyAleT:4: | D.1865 2080
The number ] E
of Fridge sold + Numberof Oven soid s et | -ase
Companies % of fridge sold Number of AC Total appliance unsold AC by B Is 36 more than the number of Directions (36-40): What valueshould come In
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31) Ifthe numberof Ovensoldby E Is halfofthe € T o Z — LE{J oy 2
numberof ovensold by D and the ratio of the fridgesaldby C attheprgtofS%andrestare | ... 4 """/)
numberof oven andAC sold by(E)s 8:11, then ocld stiie lo ’,,(','_"“"""" \)m/ Py G- Lo
find the number of AC sold by E? 3 /( A.Rs.2078100 ) 678
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b)68 42)A,B.andC startedthe bushess. Theratoof more. Findthe selling price of the laptop at a
o972 the Investment of A and C Is 4:5 and the proftof30%?
&7 Investment of B Is 20 the P -l2x-1:3¢6
nvestmentof C. Aer 12 months. B withdrew :
o8 JvestmintofC. A 12 Monis, D withdrew B.Rs.3600 .
A3 18 v T ke gt o I  Ra 3400 Q¥
(D10.20.003002.2910 s i s e Pttt M U003% b s 2300 8 1% gg-g.er
3) 1800 200¥Y 2210 \0D | profofthebusnessisRa7200, then findthe =12000, E Rs2600 @ @
oo “,_'L"7 ¥ |9 protspere otaz A= Lo Cz0° ﬂ‘)-lz:Q&—
©) 2400 2100¥ WARs2000 = . 4 @ 0 .
2100 B. Rs.2400 8 = (od Interest scheme at the rate of 10% per annum .
3000 6xl4l 2PV CRets0 ¢ for2years and he alsoInvests Rs.xina simple i ® & © E26
D Rs’zm'om C:=s5mny+ ¢ooxé, Interest scheme at the rate of 15% per annum —— Number of graduated people ——
@o(.me.u.znu 6 3 1L S)|aore = laopo 4 Y200 for3 years. The nterest received on a simple - Number of postgaduated peope
Ges L3t LML dsy rheprasentageotArurstatharistourtimes = 16200 Interestachemels Re.750 more than that of a gg @
b: 1‘2:: | q 33’ {7ne ot -w.Iu:: A.Rs.3600 i 46) Ratio of the number of male and female
:) 1080 Ll i tmattime. Ansagrandtathers age s seven B.Rs.4000 gradusies and postgradusies people In village Q&/; L
8 26 122" tmes the present age of Arul. Find the C.Rs.4200 Dis 5:3and 11:9 respectively. Find the total
LA difference between the present age of Arul's D.Rs.4400 —
ang | merendoendhber E.Rs.4800 peopleinvilageD?
ok 7 A 20years A 20750
18 ot :?:::Z Directions (46-50): Study the following | B 20850
days,inhowmanydaysAand B togethercan | p 5 . ©.20650
plete o wodd: E.35years given below. D.20950
A 24davs T e B e AT S A Wl E. None of these




b)68 42)A, B and C started the business. The ratio of more. Find the selling price of the laptop ata 45000
972 the Investment of A and C Is 4:5 and the proftof30%? e
&7 Investment of B Is 20% more Han the P ey -l2x-1:3¢
InvestmentofC. Afler 12 months, B withdrew .
e)8s ESTeTS R0 IO, XNy B.Rs.3600 —
33(1/3)% of his Inlial Investment and after one /‘
Ax3 K ore year, C_added_60% of his Inifal g _( 1x?20 C.Rs.3400 0 A Qs 9y .
‘10.20.00.800.‘1.28100 " MMnm& ths, the total Y D.Rs.2800 2000 | ‘¢ < 3%-1=0¢
31800 200¥7 2l |0 rofeofthobusnesieRe7200, then indthe = 12000, E Rs2600 s @ @
A AR roof A? Yy f Q-2
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©) 2400 210! 52000 . 0) i
82700 B. Rs2400 8 = (od Interest scheme at the rate of 10% per annum ol ——
&) 3000 6xl4l AV CRets0 ¢ for2yearsandhe also Invests Re.xIna simple A s g 1B € %S"Sé
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@?.1&6'.!&.7 6 2 16 S 9ol = laepo 4 Yt00 for 3 years. The Interest recelved on a simple 8 Number of postgraduated people
fes L —dsy Theprossntageof Arustatharistourtimes = 16300 Interestachemels Rs.750 more than that of a 3 e
b: :z: | q 35’ gmmmdeuymqu:: A Rs.3600 i 48) Ratio of the number of male and female
9 9 :
o . Lt gL i tnattime. Anragrandtathers age s seven B.Rs.4000 graduates and postgraduates people In village ?&/g L
g % 122 ymes the present age of Arul. Find the C.Rs.4200 Dls5:3and 11:9 respectively. Find the total
9100 difference between the present age of Arul's D.Rs.4400 —
| tatmerandgransamerr E.Rs 4800 peoplelnvilageD?
ok . A 20years A 20750
18 ot : ?: ::Z Directions (46-50): Study the following : ;:z
days, In howmany days A and B together can D. 25 years E
compiet thework? E 35years glvenbelow. D:20060
A.24days The given line graph shows the number of | E:Noneofthese
8.0 mys ) graduated people and the number of post
zi: :: The graduated people in five different villages. 47) Thetotal number of literate and | iiterate
successive discounts of 20% and 25% peopleinB s 5:3 and the number of literate
o people In B Is 125% of the total number of
discount of 36%, he would have gained Rs. 180
village. Find the number of liiiterate people InB?
A.32250
B.32280
©.32300
D.32350 ©.21210 57) The length and breadth of a rectangle Is (x + 5)
E. 32460 D.21250 54) om and(x Ifth of
E.21300
48) Totalnumberof people In A Is 20% more DX3X=q02=0 o
than the number of graduates and post % ins WPESHEA0=0 400cre, of
Ax>y the rectangle?
of male tofemale population In A Is 5:3, then equations and determine the relationship B.xzy A. 540 cm?
C.x =y or relationship can't be determined. B.510cm?
A 41240 51) D.x<y C.420am
B.41230 )2 -15x+ 54 =0 Exsy .
€.41250 W)y2-dy-117=0
D.41280 Ax>y E.450 cm?
E.41200 B.x2y 55)
C.x =y or relationship can’t be determined. N22-13x+20=0 “)Amml'm"lzo.z’.m
49) The total number of post graduates people D.x<y Ny2-17y+52=0 and also crosses a 150 m long bridge In 27
In C and E together Is approximately what Exsy Ax>y ‘seconds. Find the speed of the train?
b - B.xzy ) A. 60 kmph
AT0% Di-5x-204m0 C.x =y or relationship can't be determined. B.72kmph
B.73% W)y + 27y + 180= 0 D.x<y ©.80 kmph
C.75% Ax>y E.xsy D.90 kmph
D.78% B.xzy E. None of these
E. 81% C.x = y or relationship can't be determined. 56)
Dx<y x2-40x+384=0
E—— T o Tt b o
F I8 5:7 and the number of graduste people In F
Is 4000 more than the number of graduates 53) A x>y 4)h i of the
peoplen B. If the ratio of the number of male to DX +2x-99=0 B.xzy stream Is 7 kmph, then find the speed
W)y? - 19y +90=0 C.x=yor tbe
F Is 3:2 and 3:1 respectively, then find the | A x> D.x<y A 32kmph
Bx2y E.xsy B.25kmph
peopleinF? C.x =y or relationship can't be determined. €.28 kmph
A 21200 Dox<y
B.21240 E.xsy D.35 kmph
E. Cannot be determined
Iiers of wateradded to the mixture, then the | D.180 andD ) of
ratioof milkand water becomes 118. Thenfind | E. None of these togetner Is what doesT
the value of x? more/lessthanthe number ofcelling fans sold | ) May 11
A 14 hop y shop! b) August9
B.10 B, 25% oftable fans sold ata profit of 40% and A 45%less ©) August 11
c.13 20%. B.28% more d) October 9
D.11 Wallthetablefans soldforRs. 1.5 lakh in shop ©.25% less ©) October 11
E. Noneof these B f oach D.10% more
shopB? E. None of these 67) Who among the following persons are
Diroctions (81-65): Read the following | A Rs800 attending the conference before L7
B.Rede0 Reasoning Ablity LP
The given information shows the total number of | €. Rs.600 Directions (86-70): Study the following 1L. The one whoattends two persons after T
fans (ceiling and table) sold by four different D.Rs.500 1ok fully and e below M. Theonewho i SatelyafierM
shops A, B, C and D. E.None of these
Celling Fan: Rato of the number of Ceiling fans Sunctons 9 Oy}
Ten persons-L, M, N, O, P, QR S, T,and U | b)Onlylandil
sold by shops A and B is 12 and )
0 diasence betwesn the sumbar of Celing by shopeA, C andD togeter? are attending the conference on two different €) Only Il
e e et | i dates either 9 or 11 of five different months- | ) AllL, I, and il
Ceiling fans sold by shop C is 20% less than | B.170 Janiiaty, May, Augst, Ociober, and Decamber’ | (e) Nonecf thase
that of shop D. Number of Ceiling fans sold by | C.222 of 8 saraa yeer bit it risoasmaitly in i same
shop C is 60% of number of Ceiling fans sold by D.110 order. 68) Fourof the fl the
shopB E. None of these T attends three persons before N who attends similar in such a way to form a group, who
Table Fan: Average number of table fans sold after August. U atiends immediately afler N. The | among the following doesn't belong to the
by all four shops is 175 and the number of table 64) If the total number of fans sold by shop E Is. number of persons attending before U is the group?
fans sold by shop A is two times the number of 20% f same as the number of persons attending after aP
table fans sold by shop C. Raio of the number |  numberof table fana soldbyshops E and D s R. The number of persons attending between T |  b)R
of table fans soid by shops A and D is 5:4 g and R is one less than the number of persons | ) The one who attends immediately before U
respectively. Number of table fans sold by shop | fanssoldby shopE? atiending between U and S. S attends before U ) The one who attends two persons after N
8 i 80 more than that of shop D. A 336 © attends four persons after L. O and S are | €)Q
1)) B.420 atiending in difierent months. The number of
offans sold by shops B and D together? C.280 persons attending between L and N is the same )
A 120 D.150 as the number of persons atiending between R ) N and O attending on the same month
B.170 E. Noneof these and P. P and Q are atlending the conference on b) Q and P atiending on the same date
c.100 different months. ) No one attends after O

) Two persons are atiending between R and N



) M attends immediately before R

)
‘conference on January 117

aN

bQ

c)0

d) The one who attends in the same month of L
&) The one who attends immediately before R

Directions (71-73): Study the following

glven below.

A person from point F drives towards the south
for 3km to reach point B, where he takes a left
tum and drives for 12km to reach point H. Then
he takes a right tum and drives for 8km to reach
point R from where he tums to his right again
and drives for 8km. He then drives for Skm afler
taking a right tum at point J and reaches point N.
At this point he takes a left tum and drives for
8km to reach point V, where he takes a right tum
and drives for 2km to reach point K. He finally
stops at point Y, which is 3km to the west of
pointK.

71) In which directionls polnt B with respect to
pointY?

a) East

b) Southeast

) Northeast

d) West

) None of these

2) 10km

b) 8km

©) %km

d) 11km

&) None of these

polntsK andF?
a) v22km

b) 2v6km

<) Skm

d) 2V5km

) None of these

usling the third, fourth, sixth and eighth letters

Y.
Ifmore than one word can be formed mark the
answeras‘X.

a)b

HL

X

a9y

eE

In the number "81348528" each has many

(both forward and backward)?

a1
b)2
3
a4
) More than four

Directions (76-80): Study the following
Information carefully and answer the below
questions

Six persons-P, Q, R, S, T, and U are sitting on
the circular table and facing centre. They like
different fruits- Banana, Mango, Apple, Peach,
Chenry, and Orange. All the information is not
necessarily in the same order.

R sits second o the left of the one who likes
Cheny. Only one person sits between the one
who likes Cherry and the one who likes Apple. P
sits third 1o the right of the one who likes Peach.
P neither likes Chemy nor Apple. S sits
immediate left of P. The number of persons
siting between R and P is the same as the
number of persons siting between S and Q. T
sits immediate right of the one who likes
Orange. The number of persons sitting between
the one who likes Banana and R is the same as
the number of persons sitting between P and S
when counted from the left of P. Neither Q nor U

d) Four
) Five

m
a) Cherry
b) Orange
¢) Banana
d) Apple
€) Peach

)
theleftof T?

aP

bR

) The one who sits second to the left of S
d) The one who likes Cherry

s

)
a) T-Orange
b) S-Mango
©)R-Peach

d) Q- Cherry
€) RBanana

80) If all the persons are arranged In

likes Mango. P, Iikes
76) Tandthe Apple(F
aQ
T b)S
) One ©) The one who sits opposite to P
b) Two a1
c) Three 9u




